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: (1.5 hours)
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Part A of this paper consists of /5 MC Questions (15 x 4 = 60 marks)
Part B of this paper consists of 03 structured questions. ( 50 marks)

Al those scoring about 100 or more would be deemed to have scored
100%.The marks for the others would correspond to actual marks obtained for
this paper.

Choose the most correct answer to each of the questions and mark the answer
with an "X" on the answer sheet.

Use Pen (not a pencil) in answering.

Any question with more than one answer will not be counted.

In Part A , marks will be deducted for incorrect answers(1/5x4 marks per
incorrect answer).

The Use of a nonprogrammable calculator is pcrmlﬂed

Logarithm tables will be provided on request.

Write down clearly your name and Address at the back of your answer sheet.
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Part A Mark the answers in the MCQ answer sheet provided with Part B
88mJ B omide wd@w wow g @ndden BEnd vmed edunxs!
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Integrate the functions given in question 1- 3 ¢80y gd»de 8 g8 8o empmeme
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afemr 1-3 euenreé@Gld SIULLGBelen Frjusanens Csransul(Bs.
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(iii) +C,
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Find the values of the integrals given in Question 4 - 6 ¢ yaderde & g8
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6) [x(B3x—-2)dx =
i _
(i) 10, (i) 4, (iii) -4, @iv) -10
(7) Solution of the differential equation (x —3)% =y is

(x— 3)31 =y gdme wudndaed Dugd Duled,
X

(x— 3)% =y a@ib euenasUWi_ BF Fwsiniger ey

@ y=x2+C, (i) y=C03),
(iii)) y=h-3)+C, (iv) none of (1) - (1ii)

(8) Gradient of a curve at the point (0,1) is [—- %] , Equation of the curve is
(0,1) cdonedt Onun anm®en ——;—, Oned wdncems D5,
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) 2y=x+2 @) 2y=x+, G y=-2+C, () x=-I+l

(9) .Which of the following are exact differential equations? ewm ¢=50 18 @
86 ¢dmen odnde Drlenie?
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(a) (X +y)dx +2xydy=0 (b) x+3y)dx+@y+2)dy=0
(i) (a) only (ii) (b) only (iii) both (a) and (b)  (iii) none
(10) From a group of three boys and four girls, in how many ways can we selecta
group of 5 including at least 2 boys ? 888 @3 3 = ww ouwiey €8s 4 =

38 DeDodBm «os B8exBsl B68 g’ 2 o ewmest Om ©lE S
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3 eLweaismenud 4 GueleTenenSememL CaTenl. @F Falt Sletmbal
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() 12 i) 21 (iif) 6 (iv) 18

To answer Question 11 - 13, consider the following. 11 88 13 ¢=®1 gadesdEd
B88m0 EedZ sum E@edn & vcmim.

The marks obtained by a particular studentin 8 tests are 34, 38, 31, 30, 64,
46,55, 62. Rusewn obee 8o ewqwo 34, 38, 31, 30, 64, 46,
55, 62 o» e c@h of,



alamr 11-13 suenps@h afmiwelss , 8 ufimessails @nids
LremTel GermheuenTed GuplL’ L. Laiaumn LsTelaamend &(Hals
34, 38, 31, 30, 64, 46, 55, 62

(11) What is the mode of these marks. @@ CReEOc Qo Bag?
Blieiesafler SLEMTOH eTete?

(i) 45, (i) 50, (i) 42, (iv) none

(12) Find the median of these marks. e@® cRedc @Dvedn ewmiwsin.
Blisirafsefar Qenl WIGSlened Srems
iy 42, (ii) 45, (i) 47, (iv) 55

(13) After the 8" test, the mean of all 9 tesis is equal to 45. Calculate the number of
marks the student obtained in the 9™ test. 8 D wESwvamews oy 9 beamo
el e Boded® @Rvmss 45 = Ba. 9 0 ol=ivena wgwe Hunwo
cmisden CRg cRiogess 7
seum Comsenenulen Geny , sam 9 Compamassiagbd Bl 45 &HGF
FLo@MELD.. Sboreeuamed Jauml Corsmend@l GupULCL Lsherulsir
GQupmed wirg?

(1) 20, (i) 0, @) 33, - (iv) 43

(14). How many words can be made by using the letters of the word “SIMPLE” taken
- all at a time? “SIMPLE” a= D0med guimbon 8wed@® gxsied Hmdd
©05md s ©m (B DO werm emederg!
SIMPLE aiepith  Gemsoalang a(pssidbas semmsb @6y GryHglsd
ULSTLBES ahsmar CEThemen 2 (HaTES (LPQub?

(i) Cs (ii) 240 (i) 60 (v) 720

(15) Using the digits 4, 5, 6, 7, 8, and 9, how many four-digit numbers can be
formed without repetition?

4,5.6,7.8 w0 9 @z 308180020 (ETH8) 0i8m0 @0 we@niem wmdal
aminbom gom Hosd ymdObame (82D o8 wiBe?
4,5,6,7,8, 9 gdw Beadstismen Lmelsg aspenean BTG
Brossnsai(BatiBh Hewprs wmmpule) QUBLILIL.eOTLD

(i)6! (if) % ai) 6cy (iv) ‘g‘:'



Mathematics for Chemistry & Biology -(PSE 3117) 2010/2011
Assignment Test 2

MCQ Answer Sheet.  Use pen in answering

Reg. No.
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‘Wrong
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Part B (50 marks) :

Answer thé questions in the space provided. Attached sheets will not be graded. esescso
a3 od) p@rehiend BEndt Buslim. @< BEno oy ©ew Crey GLr)
EENEIER.

srou’L Sent Geueilsefllsht wrssSmnd ellemssandd aleni_waNss.UdEns
BmemasiLBGD eHs6nm el ssmend SHSSLILIL LT L Tg.

L.Integrate the following. swm credn oo gnmEme pdsim.dalamams
OarensliBas.

Jx Inxdx

8 marks

2. 10% of students in a class are left handed. 8% are short -sighted. 2% are short
siphted and left handed. Given that a student chosen at random from the class is
short-sighted, find the probability that the student is left handed.
waBam Begsiecs’ 10% 289 gd gv 08, 8% = ¢8¢d cdBnsiDews]
cuegs. 2% I Bigxl D8 ¥di gudm and @8y &8¢0 ciddmsiDewnie
grime. 2edwd ece enidind Buedn gdgd ddnmbens’ cuegn 8D €
guSmd By D80m nd eevy e wBmBmBu eeinEim.,
augly gamiigisier 10% ranajse GLE @& aupbSSHme
o el wefsst , 8% wremeufseT Slligul UTfeneud (GHeDLITEL WaTEHET.
2% (memieuEeT Sligul Lnfensuenilh B & mE ep&Hsalanab
2_snl_Weusslr. SeleuGUled mha erphswranons Qafla QFwILfD  IoTemmeu st
Slligwl urjeneuujenLWwieusT eTangSIliul Bellengl. S| wrawelaT B G 0
QUPHHSHBHImET 9 _enLIIETSS — STaILBSDSETEl BEDaHEmas HIamNem.

6 marks
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3. A dial of a spinner (fortune wheel) is
divided into 8 equal portions and
marked as shown. Each portion is 2 1
identified by a colour (marked as Red Red | Yellow
or Yellow) as well as by a number. 2 Rad "\ Red 2

Spinner is spun once and when it stops, — —
the colour and the number at the 4 3
pointer is observed. Find the Yellaw | Red
probability of the events in (i} and (ii) 3 1
Doz Dpom Fuenn t3Bim emide § @O pointer ’

e Gwed qEedn guic®d cneay 20 g,

o 023 exde o8 ¢t g1 eeds? ( Red eof Yellow) ew gomewnad wgon o
0. Opa 00 @cnd) mod B8 ¢l md ¢bmma(pointer) ewif) B gu8 wod o

gozme HBduero odm cEel. (1) oo (i) 8 ¢D 8 840s 8@ ©BuiBmbds]
@eInim

Fpeulh casjburaniar (oEfegl  FHETD) (P 8 Fwewan LGS EeNTE0
Ufasi’ @ @eaGaurm LGHub wsHdled amirlu i ennrm (el Sebagl
EhFeir} HmGioreamienTsd SEnLwremiLGHSULLL GILaT Eeohasipd SO Hererng.
FEEID @G Wop Sobplul@ o Pheh Gurgl g sMED  BmEpD
Beoda(pd omusralsstiu®h. eflem (),(H) B sriul @sten sHSTULRSEDHSSTET
BBDHHMEVS HT6S.

(i) the spinner points to an odd number in the dial.
cmms Dped wdos! 26 g @ded ©B@mdE eumn® 0@
GP@ID FHEFD (PSUTeh ghens aemeneud ST HEUSDBT HibDeE6]

(ii) the spinner points to number 2 in a red region.
cBame O oS emdom g 2 8.2md cousind 888
Fogpd FEsFDn fauli ugdullst Bedsd 2 ewsd S Hasimamer
Bla|pseEe)

6 marks



4. 5% components in a large batch of items are defective. If five items are taken at

random and tested, ¢O» Seng 2130853 5% = ecle vvom BY eeuw eom
g, ooboifeces O 5 = enid ule wdn G

dfl Qurpl smens CEmawiL gm Gufiw GEtgdulsd 5 efstome

QuITBL &6 LPpSLBSHMme. 5 QUIGELEST spbSNNETE a@ssiulf
uflFafsbsiin’ L med |

(i)What is the probability that no defective components will appear?
BEg O ec¢ls wovom emfed w@wdmbd eaasis

ehGLleUME GLITGL SEHD LIPSHMLIITDED STemlLGashaTat Hshssa
wirg?

(11) What is the probability that the test sample will contain one defective item?

ubde me Buged O Oved udes egfs wowom Be® e®widmd
@ENEBIT

ufiFelestul L wrglfl LwsmLbs QUTEST @amns GsraomrLSHBasTe
Bespssn wrg?

10 marks

5 .Twenty batteries were picked at random from an assembly line for testing.

The life of each in number of hours was as follows. 296 20 = e3es®e0d eEes

emidh ol=fer »dm @2 o O 08ed gy o=t (o OR) wwm =303
g,

uflfallLgig maussin L @n gmlid Gsrgrar uppilaaielmba
eipbswretons 20 ubpiest a@sstiuLar. HC)p Sene @siGeaurailaTsib
UTeuenasid STeud emilhalmeurnisaisd STl [Beremer.

110, 135,131, 126, 120, 115, 132, 126, 120, 111, 116, 120,127, 117, 132,
117,123,133, 127, 129,

(a) Arrange the data in ascending order. esfmesd grecives 88e0cD Busim
srajsmen guiauflnsuisd QUERGUGHES.

(b) Group the data into equal intervals with the class marks as given in the table
and complete the frequency table. gom ¢Snws! Dged con B o8 coe
8



28m 0@ EindbeEd sfnom »d wadsm Ded wdygbin mdsim.
SiCLeuanesulsd Syl Beiteneuryy euGLIULETENEEDHL 6T Foanman SiuNanL Henns
SIUULL STEYHENET Fnl L BIGENTEGE.

i?requency Table (esc@mom OpP) 1blemal DL euene.

Class Class Class mark | frequency
boundaries (x") (£ £ (x) - X) | fx-X )

112

117

122

127

132

137

(c) Calculate the mean (X)) using the table in (b) ©g® 2:8mm =3 @dBwms (X )

oemmE @dsim.(b) ullsb 2 _ellen HILLsuanatenll UWISTLGSHS EanL.anid (}—{)
SN EREH S

(d) Calculate the standard deviation of the above grouped data . gwm sgunem =g

enimariod ©H00m gue@me e,
Gl iUt sl LmEsemadu sreysaiss B elasmeds SailoEs.

20 marks



.' ~ The Open University of Sri iank‘a’ e

‘ Contmumg Educanon Programme : R T
- Mathematics for Chemlstry and Blology (PSE 3 l 17) 2010/201 1

| Answer' guide for aSsignmenf test____2- o
 PartB R
L fxinxds Letv=inxanddu=xdx .
o

.u'=-—:—-anddv=—-. _

2 _.,_
. = —'2"—11'12{".'. 4 +C/

2 Let the probablhtythatastudent be leﬁ handed is P(L) and the probablllty thate'.. :
'-student be -short 51ghted is P(S) : I SR '
PQL)= 0.1 .and P(S) oos R SRR
"P(LﬂS)—o 02 .
Applymg P(L N S) P(LIS) X P(S)
'P(LIS)F(—;E«?I:_ L

4

3(|) No of favourabie Event =4, otal No of' events = 08
Probablhty of Event (i) = -g B

M!'—-

S 'There are 3 red segments marIE"Ei w1th odd numbers

Probablhty of event (i) = E S

_8_




4 (i) Probablhty that an item is defective = 0.05 .
is not defective = 0 95.

» TR TR LR

(095+005) T
7 C,(0. 95)5+sc (0.95)* (0 05) + 5, (0 95)° (o 05) Forn 60(0.05)5
Probability that all items _are good = *C,(0.95)°= 0 774

(ii) Considér the binomial expansion in part(i)

Probability that one item is defective = *C,(0.05) (0.95)" =0204 R

S(a)
110 111, 115 116 117,117, 120 120 120, 123 126, 126 127 127 129 131 132 132 133, 135

Class | class . Clas_s _ Frequency f; (x) T(x- X) XY
e boundaries mak | (&)
T4 [1095-1145 | uz |2 - | 24 |12 288

N —— S —— :

a68 1 7 | 1%
| 488 1 -2 16

115119 |1145-1195 | 117
024 |1195-1245 | 12

5520 [12451295 | 127

T ERE S g

o .;\“*528..“.;:' 256

N

[130-134 | 129.5-134.5 132
135139 | 1345 139.5 137 |1 1_31.;'::..;:‘ : 13 169

x= 2480 104 | sz(x _X) f |
20 o o n-l o V13-

SD=17.145

970




